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1. lean u 3a0a9i JUCHHUILIHHBI

1.1. Heab AucuunJIMHbI:

OCHOBHO¥ 1LIENIBIO U3YYCHUSI MHOCTPAHHOTO SI3bIKA aCIUPAHTaMH SBJsiETCS (OpMHUPOBa-
HUE KOMMYHHKATUBHON KOMIICTEHITUH, IO3BOJIAIONICH WCIOIh30BaTh WHOCTPAHHBIA S3BIK B
Hay4HOU paboTe.

1.2. 3agauy AMCHUILIMHBI:

- ¢popmupoBanue HOHETUUYECKUX, JTEKCUICCKUX, TPAMMATHIECKHX, TICPEBOTUECKUX, aHA-
JUTHYECKHUX HABBIKOB, YMEHHH PacCyKJ1aTh, aHATM3UPOBATh, BEICKA3BIBATH MHEHHE 10 TEKCTY.

- pa3BUTHE SI3BIKOBBIX, MO3HABATEIBHBIX CIIOCOOHOCTEH, TOTOBHOCTH K KOMMYHHKAITUU
Ha OCHOBE MPEJIOKEHHOTO MaTepHaia.

- pacIMpeHue JTHHTBUCTUYECKUX, KYIbTYPOJIOTHYCCKUX 3HAHWA, PA3BUTHE YMCHHU BBI-
JICJIATh OCHOBHBIC MPOOJICMBI.

-MPAaKTUYECKOE UCTIOIb30BAHUE MTPHUOOPETEHHBIX 3HAHUIA B TUAJIOTUIECKOM M MOHOJIOTH-
YECKOM BBLICKA3bIBAHHH.

2.MecT0 TMCHMILIMHBI B CTPYKTYpPe OCHOBHOM NPOo(ecCHOHAILHOII 00pa3oBaTe/ib-
HOM NPOrpaMmbl

Huctunnuna «HOCTpaHHBIN SI3BIK» OTHOCUTCS K 0a30BOM 4acTH LMKJIA JTUCUUILIAH ac-
MUPaHTYpPhl, HAIIpaBJI€HHAs HA MOJATOTOBKY aCIMPAHTOB K HAyYHO-UCCIIEI0BATEIbCKON e TElb-
HOCTH ¥ ()OPMHUPOBAHUIO HEOOXOIUMBIX KOMIICTCHIIHHA.

3. TpeGoBanusi K YpOBHIO NOATOTOBKH ACIUPAHTA, 3aBePIIMBILEr0 U3yYeHue JaHHOM Tuc-
IHUILIMHBI

[Iponecc n3yueHus TUCIUTUIMHBI HATIPABJICH Ha ((OPMUPOBAHHE CIEAYIOUINX YHUBEP-
CaJIBHBIX KOMITETEHII:

- TOTOBHOCTBIO y4acTBOBaTh B pabOTE POCCHICKUX M MEXIYHAPOJIHBIX HCCIEI0BATENb-
CKHX KOJUIEKTHBOB M0 PELICHHIO HAYYHBIX U Hay4HO-00pa3oBarenbHbIX 3a1a4 (YK-3);

- TOTOBHOCTBHIO HCII0JIb30BATh COBPEMEHHBIE METO/Ibl U TEXHOJIOTUN HAYYHOH KOMMYHHU-
Kalll{ Ha TOCYIapCTBEHHOM M HHOCTpAaHHOM si3bikax (YK-4).

B pe3ynbraTe 0CBOSHHS IUCHUTUTHHBI O0yYaIOIIHICs TOMIKEH

3HaTh:

- 0a30BYIO JIEKCUKY OOIIET0 S3bIKa U TEPMUHOJIOTHIO CBOEH CIEeUaIbHOCTH.

Ymern:

- YUTaTh HAa WHOCTPAHHOM S3bIKE XYI0KECTBEHHYIO M HAyYHYIO JIUTEPATypy U TEKCThI
OOIIECTBEHHO - TIOJUTHYECKOTO H JICJIOBOTO XapaKTepa, MePEeBOJAUTh TEKCTHI IO CIICIIMATEHOCTH
CO CJIOBapeM,;

- BecTHu Oeceny Ha TPo(eCcCHOHATIbHBIE U OBITOBBIE TEMBI;

- TOJATOTOBUTh MUCBMEHHOE H YyCTHOE COOOIIeHHe Ha MpodecCHOHATHHO-
OpPUEHTUPOBAHHYIO TEMY ([IOKJIAJ, CTaThs).



4.00beM TUCUMILIMHBI M BUJIbI Y4eOHOH padoThl Taoauna 1
Bcero CemecTpbl CemecTpbl
Bun yae6HO# paboThI 4acoB 1 2 1 2
0]0]0) 300 0]0]0) 0]0]0) 300 300
KonTakTHBIE 3aHATHS (BCETO) 40/1,1 36/1 20/0,6 | 20/0,6 | 16/0,44 | 20/0,6
B Tom uncie:
[TpakTHYecKHe 3aHATHS 40/1,1 36/1 20/0,6 | 20/0,6 | 16/0,44 | 20/0,6

CeMuHapbl

CamocTosTenbHas pabora

140/3,88 144/4

52/1,4 | 88/2,4

56/1,55 | 88/2,4

B ToM uucie:

Umenue, npesenmayuu

68/1,9 68/1,9

28/0,8 | 40/1,11

28/0,77 | 40/1,11

Hanucanue pepepama

60/1,7 64/1,77

20/0,6 | 40/1,11

24/0,66 | 40/1,11

IloaroroBka K 3a4eTy

6/0,16 8/0,22

2/0,05 | 4/0,1

4/0,1 4/0,1

IToaroroska K 9K3 AMCHY

6/0,16 8/0,22

2/0,05 4/0,1

4/0,1 4/0,1

Bux npomexyTtoyHoil arrecra-
11U

3a4er, 3a4erT, 3ayeT | KaHI.9K | 3a4eT | KaHI.OK
Bun otuetHOCTH KaHI.9K3 KaH/[. 3aMCH 3aMCH
aMmeH 9K3aMeH
Bcero B . 180 180 90 90 90 90
OO6was Tpynoem-
KOCTb JHUCIHIIIN-
et Bcero B 3/¢ 5 5 2 3 2 3
HEBI
5. Conepikanue IUCHUNITHHBI
5.1. Pa3gennl JUCIUIIIIMHLI 1 BUALI 3aHATHI
Taoanma 2

paxr. Bcero
Ne HaumenoBaHue pasjaesa
3aH. 4ya- qacos/
n/n | JHCHMILIMHBI N0 ceMecTpam
chbl/3.e. 3.e.
1. | ®oneTnka 1/0,02 1/0,02
2. | 'pammaruka 4/0,1 4/0,1
3. | YcrHas peyb 4/0,1 4/0,1
4. | Yreune 5/0,1 5/0,1
5. | IIucemo 1/0,02 1/0,02
6. | Jlexcuxa 5/0,1 5/0,1
1. | I'pammaruka 4/0,1 4/0,1
2. | YcrHas peyb 4/0,1 4/0,1
3. | Urenune 4/0,1 4/0,1
4. | TIucemo 4/0,1 4/0,1
5. | Jlexcuka 4/0,1 4/0,1




5.2. J1aGopaTOpHBIii NPAKTHKYM — He NMPeayCMOTPEH.

5.3. [IpakTnyeckne 3aHATHS (CEMUHAPHI)

Taoauua 3

Ne i/

HaumenoBaHue pasjaeia
AMCUHMILINHBI

Coaeprxanue pasnena

1 cemectp

donernka
I'pammaTtuka

HOBTOpCHI/Ie BpPCMCH.

Present Simple and Present Continuous. Action and state
verbs

Past Simple and Present Perfect Simple.

Used to+ infinitive

Subject and Object questions.

Comparative and superlatives adjectives.

Relative clauses.

Present and Past trends: Present Continuous/Past Simple
Adjectives and adverbs.

Jlekcuka

MexayHapOoIHbII IPOEKT

Hossle komMnanun

S3bIku Mupa

Bpewmst caenarts nepepbiB?
[NoTpebuTenbckue TEHACHIIUU

Joma u 3a ero npenenamu.
[Mpeononenre KyabTypHBIX PA3THUUiL.
B mexayHnapomHoM macmirade

Yro ecu. ..

[TepenBrkeHne O TOPOLY

OmnacHble TPOUCIIECTBUS

OrmacHble TPOUCIIECTBHS

HoBocTr miioxue, HOBOCTH XOpOIIHe
Becena o HayuHO#t paboTe 1 1U1aHax Ha Oyjayliee

Yrenue

TekcThI:

What does economics study?
What are Microeconomics and Macroeconomics?
History of Economic Thought
Econometrics

The Traditional Economy

The Market Economy

The Planned Economy (2 parts)
The Mixed Economy

The Consumer Choices

Model of Economy

YcrHas peub

3HaKOMCTBO U MPUBETCTBUE.

IIpuem nocerurenei.

Tekct mno  cmenmamsHOCTH. CTaThsi  OOIIECTBEHHO-
MOJIMTUYECKOT0 XapakTepa.

Becena mo tenedony. HasHaueHue nenoBbix BCTped. TekcT
mo crnermuabHOCTH. CTaThsl 0OIECTBEHHO-TIOIUTHIECCKOTO
XapaKkTepa.

Bripaxxenue muenuil. Cornacue v IpOTUBOIOJIOKHOE MHE-
HUe. Y4YacTHe B COOpPaHMU WM JMCKYCCUU . TEKCT IO Crie-
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uanbHOCTH . CTaThs OOIIECTBEHHO-TTOIMTHYSCKOTO XapaK-
Tepa.

Cosertsl 1 nipesioxkeHus. Tekct no cnenuanbHocTh . CTaThs
0O0IIECTBEHHO-TTOJIMTHYECKOTO XapaKTepa.

[Tepenada coobmenne. MoOmnbpHBIH TemedoH. Tekct 1o
crrienranbHOCTH. CTaThsi OOIMIECTBEHHO-TIOTUTHYECCKOTO Xa-
pakrepa.

[TpocsOrr 1 mpeanoxenus. Oomen uHpopMmanueit. TekeT mo
crrienranbHOCTH. CTaThsi OOIMIECTBEHHO-TIOTUTHYECCKOTO Xa-
pakrepa.

IIncemo

The Structure of Business Letters.
Simple Commercial Letters.
Enquiries and Offers.

Accepting of Declining.

Faxes, telexes, cables.

Sale of Goods Through Agents.

2 cemecTp

I'pammaTuka

Passive: Present Simple, Present Continuous, Present
Perfect Simple, Past Simple, Will Future,

Past Simple, Past Continuous , Past Perfect.. Modal
verbs: must, mustn’t, need, needn’t have to , need to
Arrangements and intentions: Present Continuous, be
going to + infinitive, will + infinitive.

Time clauses 1% and 2% conditionals

Expressing probability.

Present perfect Simple Continuous

Time phrases

3" Conditional should have (done) shouldn’t have
(done)

Reporting spoken language: statements, questions, or-
ders, and requests

Jlekcuka

B MexnynapogHoM macmirabe

Yro eciu...

IIepeaBuxenue o ropoxy

OmnacHele IpOKUCIIECTBUS

OmnacHble NIPOUCIIECTBUS

HoBocTu miioxue, HOBOCTH XOpOILIHe

becena o nayunoit paboTe u mianax Ha Oyjyiiee

Yrenue

TekcThI:

Market Structure and Competition
Monopolies

The Labour Market

Supply of Labour

Factors of Production

Division of Labour

Surplus

Price discrimination

Welfare Economics

Government Revenue and Spending
Wealth, Income and Inequality
Poverty




4. YcrHas peub

[IpoBenenune meperoBopoB M mpe3eHTauuil. Tekct mo
cnenuanbHOCTH. CTaThsi OOMIECTBEHHO-TIOTUTHYECKOTO
Xapakrepa.

Buner nenoBoro obmieHus. TEKCT MO CHENHaTbHOCTH.
CraTbs 001IECTBEHHO-TIOJUTHYECKOTO XapaKTepa.
e-mail cooGrienus . Tekcr mo cnenuanbHOcTH. CTaThs
00IIECTBEHHO-TIOJUTUYECKOTO XapaKTepa.

Onucanus nponecca. MeToJlbl MHTEPBBIOUPOBAHUS .
Texkcr mno cnenuanbHOCTH. CTaThsi OOIIECTBEHHO-
MOJIMTUYECKOTO XapakTepa.

buznec koppecnongeHuusa. TekcT Mo CrenUaTbHOCTH.
Cratbst 00IIECTBEHHO-TIOJUTUYECKOTO XapaKTepa.
OO6men HoBoi uHpopmarueit. Ilpomanue. Tekct mo
cnenuanbHOCTH. CTaThsi OOIIECTBEHHO-TIOIUTHYECKOTO
Xapakrepa.

Texkcr mo cneuuanbHOCTH. CTaThsi OOIIECTBEHHO-
MOJINTHYECKOTO XapakTepa.

5. ITucemo

Contracts in Export Trade and Their Performance.
Orders in Import Trade and Their Execution.
Complaints and Claims> Arbitration.

Sea Transportation of Goods.

Marine Insurance of Goods.

Financial Documents.

6.CamocrosiTesibHasi paGoTa

PaGora ¢ rpaMMaruyeckuM MarepHaloM, MOJITOTOBKA MPE3CHTALUN, YTEHHUE HAyYHOU
JUTEPATYPHI 10 TEME IUCCEPTAIIMHU, TIOUCK U aHAIHN3 3apyOEeKHOU JTUTEpaTyphl MO TEME B UHTEP-

HCTC.

6.1.Tembl 1 BOIpOCHI CAMOCTOATEIBHOM PadoTHI

Taoauua 4

TeMsbl 111 cCaMOCTOSTENLHOM pa6OTBI

1 cemectp

Yrenue Robert Oppenheimer «The Reason that We did This Job is

Because It was an Organic Necessity».

IMpesenraru: Russia and Europe, or Russia in Europe?

I'pammaruka Modal equivalents.

2 ceMecTp

Yrenue Public Speaking in Politics: General Issues.

[Mpesenrtaru: Putin and Europe.

I"'pammatuka Complex object, Complex subject.

6.2. Tembl pedpepaToB

1. Inauguration Speeches. Abraham Lincoln’s Inaugural Address.

2. Obama’s Inaugural Address.

3. Bill Gates® Graduation Speech in Harvard.




7. OuneHoYHbIE CPeICTBA M3MEPEHUS YPOBHS OCBOEHMS acMpaHTaMU AUCLUIIIMHBI
«HOCTpaHHBIN (AaHTIUUCKHUH SI3BIK)», BKIIOYAIOT B ce0S:

Bonpocsl npoBeenns arrecTanuu

1. Tect mo rpamMmaTuke
Test A
I. Translate into English using verbs in Present, Past and Future Indefinite Passive.
HX HaxoJAT —MX HalIM — UX HAaUAyT.
Ero IIpOoIIAarT — €ro NpOCTUIIN — €TI0 IIPOCTAT.
E¢€ nmyt — e€ nckamu — e€ OyayT UCKaTh.
Mmue npeaiararoT — MHE IPEAIOKUIN — MHE IIPEAJIONKAT.
Hac BcTpeuaror — HaC BCTPETHIIM — HAC BCTPETAT.
Bawm parot — Bam ganu — BaM JaayT.

I1. Write the following sentences in the Passive Voice.

. This letter (to write) yesterday.

. This question (to answer) at the last lesson.

. This text (to translate) by him tomorrow.

. The task (to give) by the teacher at every lesson.

. This agreement (to sign) next month.

. 'You (to show) the way to the city tomorrow.

. The house (to build), soon we shall move into a new flat.
. You often (to ask) by the teacher at the lessons?

coONO Ol A~ WN -

I11. Translate the following sentences into English.

1. Bee Ob111 yBepeHsl, uTo bopuc Xopol1io ciact 3K3aMeHbI.

2. On roBopwi, uto JleB ToJcToi ero JIFOOMMBIIA MUCATENb.

3. 51 3nan, 4To BHI KUBETE B MOCKBE, HO HE 3HAJI BAalIErO aJipeca.
4. OH ckazall, 9To OpPOCUT KYPHUTb.

5.Bce 3Hanm, 94To OHA MMOeAeT B PuM.

6. [IpoctuTte, MBI HE AYMaJld, YTO BbI KJIETE HAC.

7. 51 He 3Ha, 4TO BBI TOXKE JtoOUTe PyTOOII.

8. 51 ObLT yBepeH, UTO OH OYJET BBIIAIOIINMCS apTUCTOM.

IV. Put into Indirect Speech.

. I said to Boris: "Does your friend live in London?"

. | said to the man:"Are you living in a hotel?"

. Nick said to his friend: "Will you stay at the Hilton's?"

. He said to me: "Do you often go to see your friends?"

. He said to me "Will you see your friends before you leave St. Petersburg?"
. Mike said to Jane: "Will you come to the railway station to see me off?"

. She said to me: "Have you sent them a telegram?"

. She said to me: "Did you send them a telegram yesterday?"

coNOoOOlTh~ WN -

V. Put questions to the italicized words.

1. Girls are beating boys in subjects such as science and math.

2. Alexander switches on his computer every day.

3. Computers can be divided into three main types.

4. Computers have resulted in massive unemployment in many countries.



V1. Put into Past Tenses using Sequence of Tenses.

1. Nick says he is going to the hotel to see his friends, who have just arrived
in St. Petersburg from the United States of America.

. He says they have not been here for a long time.

. He says they were friends at school.

. He says he will take them to the theatre on Sunday.

. They say they will write me a letter when they return home.

. Mike says he is sure Ann and Kate will be excellent guides.

. He says they have made good progress in English.

. Oleg says that in a day or two several English students will come to pay a visit to their school
and he will probably have to act as interpreter.

coONO Ol A~ WN

2. YteHue, nepeBo] M aHAJIN3 TEKCTAa MO NPOPUII0

Monopolies
In a monopoly, one company has a much larger market share than any other company. In fact,
their share is so big that other companies cannot really compete. When there is a monopoly, the
normal laws of supply and demand do not always work. Monopolies come in different kinds, but
a pure monopoly is when there is only one company in the market providing a particular product
or service. This situation, in fact, is the exact opposite of perfect competition. How do pure mo-
nopolies happen?

Some monopolies occur naturally. This happens when a company manages to create an econ-
omy of scale. An economy of scale is when variable costs of production increase more slowly
than increases in supply. Every company would like to be in this situation. Unfortunately, it's not
easy to achieve. Economies of scale are possible for companies which need a lot of money to set
up but much less money to run.

A telephone company is a good example. Telephone companies have to spend millions of
pounds laying cables. However, once they have made the network, running the system does not
cost so much. Any other company that wants to compete will have to make their own network.
Not surprisingly, not many bother!

However, the world of business is a jungle, and there are more aggressive ways to create a
monopoly. One of these is by making takeovers. This means that a more powerful company buys
a smaller one in the same industry. Takeovers happen vertically or horizontally. In a vertical
takeover, a company buys companies that supply it with materials or services. For example, a
publishing company might buy a printing business. In a horizontal takeover, a company buys its
competitors. The competitors then become part of the first company.

One final way a monopoly occurs is for the government to make it happen. This is called a
legal monopoly, but not because other monopolies are illegal! It is called a legal monopoly be-
cause it is created by law. The government may decide that a competitive market is not good for
a certain industry. In this case, it can make one company the only legal supplier. Sometimes, it
provides the service itself. This is called a state monopoly. The postal service in many countries
is an example of a state monopoly.

Generally, monopolies are not good for consumers. This is because in a monopoly, the laws
of supply and demand do not work in the same way. A company with a monopoly becomes a
price maker. They have much more power to set the price for their product or service. Also, they
don't usually spend money on innovation because they don't need to. The bottom line, as they
say, is that monopolies mean less choice for consumers.

8



The Labour Market

In many ways the relationship between employers and workers is similar to the relationship
between consumers and producers: workers offer a service (the labour they provide), employers
buy that service at a price they can afford (the wages they pay). As you can see, it's a kind of
market. In economics, it's called the labour market.

In any market for products and services, consumers try to get the maximum utility, or satis-
faction, from their purchase. This is the same in the labour market. What do companies want
from their purchase of labour? What utility do they get? The answer is increased output. Output
is how much of the product or service the company produces. If there is an increase in demand
for their product, they will need to increase output. One way to do this (but not the only way) is
to take on more staff. Another is to ask staff they already have to work more hours. In both cas-
es, the company is buying more labour.

Just like any other market, the labour market obeys the laws of supply and demand. The de-
mand is the employers' need for labour. Supply is the labour workers provide. Just like any other
commodity, there is a relationship between price and demand. As the price of labour increases,
the demand decreases. You can see this shown in figure 1.

The suppliers in the labour market are workers. Just like suppliers in other markets, they
want a higher price for greater supply. In other words, as supply of labour increases, they want
higher wages. Again, you can see this shown in figure 1. The wage that workers get for their la-
bour is a compromise between what they want and what companies will pay. This is the point
where the lines cross

in figure 1.

However, there can be shifts in demand. These shifts can cause the overall demand for la-
bour to increase or decrease at any wage rate. For example, if there is an increase in the demand
for the end product or service, there will be an overall increase in demand for labour (the demand
curve shifts to the right). However, if new technology can replace workers, then there will be an
overall decrease in demand for labour (the demand curve shifts to the left).

One more thing which affects demand for labour is workers' productivity. The productivity
of a worker is how much they produce in a certain time. For example, imagine that a worker
makes ten pencils an hour one day, and only eight pencils an hour the next day. This is a fall in
productivity. When worker productivity falls, companies will pay less for labour. They are also
less likely to employ new workers.

Factors of Production
One morning you wake up with a great idea. You've thought of a product that no one else has,
and you're certain there's demand for it. But how will you turn your idea into reality? First of all
you'll need raw materials to manufacture from - probably oil and metal, but also paper for pack-
aging. You can't produce it by yourself, so you'll need people to help you make it, package it and
market it. Finally, your staff will need a factory and machines to produce with. In short, you need
the factors of production: land, labour and capital.

The factors of production are the starting point for all economies. No economy can exist
without them. The most basic of the factors is land. When economists talk about land, however,
they don't just mean space to build on or fields to grow crops. Land means everything that nature
provides and we can use for production. The land factor includes raw materials like coal, metals,
oil and timber. It also includes things like water, fish and salt. So, although it seems illogical,
land also means the sea.



The second factor is labour. Raw materials will just stay in the ground unless people dig
them out and do something with them. Similarly, factory machines will sit doing nothing without
people to operate them. Labour can mean the physical effort such as lifting, digging and build-
ing. This is called manual work. Labour also includes mental work like thinking, writing, com-
municating and designing. Industries that need many workers working long hours are called la-
bour intensive industries. However, the quality of labour is as important as the quantity. An edu-
cated, skilled and fit workforce is more productive than an uneducated, unskilled and unhealthy
one. This characteristic of the labour factor is called human capital. Some countries have large
labour forces, but are poor in human capital because the economy lacks education and health
care.

The third factor is capital. Capital includes buildings such as factories for production and
warehouses for storage. It also includes the tools and equipment that workers use in the manufac-
turing process. In heavy industries such as shipbuilding or steel making, capital usually involves
big machinery and mechanical equipment. In high-tech industries, on the other hand, capital
generally means computers and complex laboratory apparatus. These days, industry tends to be
more capital intensive than labour intensive.

When companies make investments, they buy new capital. There are two types of investment
that companies need to make. The first is to buy new equipment so that they can expand their
production. This is called net investment. Net investment is essential for economic growth. How-
ever, equipment gets old and needs repairing or replacing. The money spent on this kind of
maintenance is called replacement investment.

Land, labour and capital are the three factors of production identified by Adam Smith and the
classical economists. However, more recent economists have identified one more factor: entre-
preneurship. This means people like you, with great business ideas that set the economy in mo-
tion.

HroroBbiii (KaHAMIATCKHUI) IK3aMeH (BeCEHHUH ceMecTp)
Bormpocs! sx3ameHa
a) NMCbMEHHBII NepeBo/i HAYYHOI'0 TEKCTA I10 CIIEUATBFHOCTH C aHIJIMHCKOTO sS3bIKa Ha pyc-
ckuii. O6beM niepeBoga — 2500-3000 meyaTHBIX 3HAKOB.
[TpoBepka aieKBaTHOCTH ¥ TEPMUHOJIOTHYECKOM IPaMOTHOCTH MEpeBO/ja COBMECTHO C MpecTa-
BUTENEM Kadeaps! (pakyabTeTa) aCIUpaHTa/COMCKATEIS.
0) kpaTkoe 00001mIeHHe (Pe3roMe) OCHOBHOTO COJICPKAHUS TEKCTA MO CHEMaIbHOCTHU C BbIE-
JICHWEM KJTFOUEBBIX MOMEHTOB, OITYCKasi BTOPOCTETIEHHYIO HH(POPMAIIHIO.
O6bem Tekcta— 1000-1500 nedaTHBIX 3HAKOB.
B) YCTHBIH JTOKJIaJ Ha HHOCTPAHHOM SI3BIKE TI0 TeME HAYYHOTO MCCIIC/IOBAHMUS acTIUPAHTA.
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Oo0pasen 0Oui1eTa K KAaHAUIATCKOMY IK3aMeHY

MHWHUCTEPCTBO HAVKMU U BBICIIET'O OBPA3OBAHIS POCCUMCKOI ®ENEPALINN
®T'BOY BBICILIEI'O OBPA3SOBAHIS
['PO3HEHCKUI T'OCYIAPCTBEHHBI HEOTAHON TEXHUYECKUI YHUBEPCUTET
umenu akaa. M.Jl. MummoHnmkoBa

«YTBEPXJIAIO»
[1epBblii MpopeKkTOp
WN.I". T'aiipabekoB
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BIJIET Nel

1. Read, translate and give short summery. (45-60 min)
2. Fluent reading. Give the essence of the text.(2-3 min)
3. Talk about the scientific work.

JlomeHT, K.1.H. X.A. AkaeBa
3aB. MexaKyIbTeTCKOHN S3BIKOBOM Kadeapoii T.b. Xa0ycuena
«_» 20 .

TpeGoBaHus u olleHKAa BUAOB pe4eBOi 1eATeJbHOCTH
Ha sx3amMeHe acniupaHT JOJKEH POAEMOHCTPUPOBATh YMEHUE M10JIb30BATHCS aHTIIUN-
CKHM $I3bIKOM KaK CpPe/ICTBOM MPO¢eCCHOHATBHOrO OOLIEHHS B HAYYHOH cdepe.

AcnupaHT JJOJKEH BIaeTh opdorpadudeckoit, ophosnndyecko, JIeKCuueckon U rpaMma-
THYECKOW HOPMaMH U3y4aeMoro sI3bIKa U MIPABUIIBHO MCIOJIb30BaTh MX BO BCEX BHUJIaX PEYEBOM
KOMMYHHKAIIMH, B HAY4HOU cepe B hopMe YCTHOTO U MUCbMEHHOTO OOIIEHUS.

T'osopenue

Ha sk3amMeHe acriupaHT JOJKEH MPOAEMOHCTPUPOBATh BIaJACHUE MOATOTOBIEHHON MOHOJIOTH-
YECKOM Peublo, a TAKKE HEMOATOTOBJIEHHON MOHOJIOTHYECKON U INAJIOTUYECKON PEUYBIO B CUTY-
aly oQUIMANTBHOTO OOLIEHN B IpeiesiaX IpOrpaMMHBIX TpeOOBaHUH.

OneHnBaeTCs CoJIepPKaTeIbHOCTD, aIeKBaTHAs pealln3alusl KOMMYHUKATUBHOTO HAMEPEHUS, JIO-
TUYHOCTb, CBSI3HOCTD, CMBICIIOBAsI U CTPYKTYpHAs 3aBEPILIEHHOCTb, HOPMATUBHOCTH BBICKA3bIBa-
HUS.

YUmenue

AcnupaHT JOJKEeH MPOJEMOHCTPUPOBATh YMEHUE UNTATh OPUTHHAIBHYIO JTUTEPATypy IO CIie-
[IUAIEHOCTH, OTUPAasiCh Ha U3YUYEHHBIN S3bIKOBOM MaTepual, (POHOBbIE CTPAaHOBEAUYECKHUE U TIPO-
(deccroHanbHbIE 3HAHUS, HABBIKH SA3bIKOBOM M KOHTEKCTYaJIbHOM JTOTaIKH.

OneHnBarOTCsl HaBBIKM U3YYAIOLIET0, a TAK)KE IIOUCKOBOTO ¥ POCMOTPOBOT0 UTeHUs. B nepsoM
Clly4ae OILIEHMBAeTCs yMEHHE MaKCUMaJIbHO TOYHO M aJIeKBaTHO U3BJIEKATh OCHOBHYIO HH(OP-
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MaIMIo, COJAEPKAIYIOCs B TEKCTE, IPOBOAUTH 0000IIEHNE U aHAJIN3 OCHOBHBIX MOJIOXKEHUN
MPEIbSABICHHOIO HAYYHOTO TEKCTa JJIs MOCIEAYIOIEro NepeBoa Ha S3bIK 00YUEeHHUS, a TAKXKe
COCTAaBJICHUS PE3IOME Ha HHOCTPAHHOM SI3BIKE.

Ilucomennwlii nepeeod HayIHOTO TEKCTA M0 CHEIMAIBHOCTH OLICHUBAETCS C Y4ETOM OOIIIeit
aJIeKBaTHOCTHU IIEPEBO/IA, TO €CTh OTCYTCTBHSI CMBICIIOBBIX MCKaXXEHHI, COOTBETCTBUS HOPME U
y3ycy sI3bIKa MEPeBojia, BKIIOYast yroTpeOIeHne TEPMUHOB.

Pe3tome (ocHOBHAA UEs) IPOUYUTAHHOTO TEKCTA OIICHUBACTCS C YIETOM 00beMa U MPaBUIIHLHO-
CTH U3BJICUEHHOM MH(OPMAaLIUH, aIeKBATHOCTH pealn3alii KOMMYHUKaTUBHOTO HAMEpPEHUS,
COJIEPKaTENbHOCTH, IOTUYHOCTH, CMBICIIOBOM U CTPYKTYPHOI 3aBEPILIEHHOCTH, HOPMaTUBHOCTHU
TEKCTa.

IIpu noMCKOBOM M MPOCMOTPOBOM UTEHUU OLICHWBAETCS YMEHHUE B TEUEHUE KOPOTKOI'O BPEMEHU
OTIpEeIeNIUTh KPYr pacCMaTPUBAEMbIX B TEKCTE€ BOIPOCOB M BBIABUTH OCHOBHBIE IOJIOKEHUS aB-
TOpa.

OnenuBaetcst 00beM U IPABUILHOCTD U3BJICUEHHON HH(OpMALIUU.

CTpyKTypa KaHANAATCKOI0 3K3aMeHa
Pa3I[€JIaMI/I KaHANAATCKOT'O 3K3aMCHaA 110 NHOCTPAHHOMY A3LIKY SABJISAIOTCA:

- YTEHUE OPUTHHAIBHOTO TeKCcTa 1o crenraibHOCTH. O0beM 2500—3000 mevaTHbIX 3HAKOB.
Bpems BbimoaHenust padotel — 45—-60 Munyt. @opma NpoBEpKU: Nepeaaya N3BJICUEHHON H-
(1)OpMaLII/II/I OCYIICCTBIIKICTCA HA NHOCTPAHHOM S3bIKE;

- oermnoe (mpocMoTpoBoe) uTeHue razetHoi ctathi. O0bemM — 1000—1500 nevaTHbIX 3HA-
KOB. Bpewmst BoinonHeHus — 2—3 MuHyThl. @opMa MPOBEPKHU — KPATKUK MIEpecKa3 CoaepKaHus
CTaTbu, YCTHBIC OTBCTHI Ha BOIIPOCHI;

- YCTHBIﬁ AOKJIaZl HAa HHOCTPAHHOM A3BIKEC I10 TEME HAYUHOI'O UCCIICAOBAaHUsA aClIMpaHTa, 6ecez[a
C 3K3aMC€HATOPaMH1 HAa HHOCTPAHHOM A3BIKC 110 BOIIPpOCaM, CBA3AHHBIMU CO CIICIUAJIBHOCTBIO U
Hay4yHOI paboTON acIipaHTa.

TpeboBanus K pedepaTy M0 HHOCTPAHHOMY SI3BIKY, TIPEAOCTABIIIEMOTO IS (KaHIUaT-
CKOFO) J9K3aMf€Ha, O6p33€].1 OCI)OpMJIeHI/I}I TUTYJIBHOI'O JIUCTA U Tpe6OBaHI/I}I, MNPpEABABIACMBIC
0(hOPMIICHUIO TIEPEBO/IBI, MPEICTABICHBI B MPUIIOKECHHUH.
IIpuMepHbIe BONIPOCHI K KAHAUAATCKOMY JK3aMeHY
(Oecena ¢ 3x3aMeHATOPAMM)

AHTIUHACKHI S3BIK

1. What’s the purpose of your present study?

2. What are the aims and tasks of your science?

3. Are there any difficulties in your research work?

4. Is there any solution to your problem?

5. Do you sometimes try new methods?

6. Do you often deal with complicated problems?

7. Do you discuss your results with your supervisor?

8. Are your results published?

9. Is your problem studied anywhere else?

10. Are additional investigations required to solve this problem?

11. Are outstanding results often reported in literature?

12. Whose works are best known in your field of research?

13. At what stage of your research will be final conclusions made?

14. What problems were considered most pressing?

15. Whose works laid the foundation for your field?

16. Whose ideas had a profound influence on the development of your field?
17. What contribution will you make by your research to that particular branch of science?
18. How many sections will your thesis have?

19. Have written many scientific papers?

20. Have you ever attended international conferences?
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21. Have you made any discovery in science yet?

22. Has your supervisor been helpful in your research?

23. Has your supervisor seen your recent results yet?

24. What new studies have been undertaking by you recently?

25. What research is being carried out by you now?

26. Is similar work being done anywhere else?

27. What preliminary conclusions can be drawn from your work?

28. What results are to be expected from your work?

29. How long might it take you to complete the work?

30. What improvements should be introduced in the research process?

31. What should be done to encourage further research in your field?

32. What is necessary to broaden and deepen one’s knowledge of the subject?
33. What should be done to further develop international contacts among scientists?
34. Why should scientists exchange views and information?

35. What questions will you discuss with your foreign colleagues when you see them?
36. When do expect conclusive results?

37. Can science do without theories and hypotheses?

38. What are the necessary components of scientific research?

39. What would you do to acquire a deeper and broader knowledge in your field?
40. What would you do to get comprehensive knowledge in adjacent areas?

41. What would you suggest for improving the state of research in your field?
42. What would you suggest for upgrading research in your area?

43. Could you give a review of current literature on your subject?

44. What qualities should a researcher possess today and why?

45. Is collaboration important in research and how is it realized?

8. YueOHO-MeTOANYECKOE U HH(POPMAIHOHHOE 00ecTieYeHre T CIHIIHHbI
8.1. OcHoBHas JUTEpaTypa

1. Aurnuiickuii s3bIK 1711 aCIHUPAHTOB [DNEKTPOHHBIN pecypce] : yuebHoe mocobue / T.
C. boukapesa, E. B. JImurpuesa, H. B. IlHo3emueBa [u ap.]. — DHEKTpOH. TEKCTOBBIE aHHBIE.
— Openodypr : OpenbOyprckuil rocynapcTBeHHsiil yausepcuretr, 9bC ACB, 2017. — 109 c. —
978-5-7410-1695-4. — Pexum nocryna: http://www.iprbookshop.ru/71263.html

2. Eroposa, E. B. Aurnmiickuii si3bIK JUIsI HeTEera3oBoro OusHeca [DIEKTPOHHBIA pe-
cypce] : yueOHUK mis Beicinx yueOHbIX 3aBenenuii / E. B. Eroposa, B. B. Martomuna, A. .
ImerHOBa. — DNEKTPOH. TeKCTOBBIe naHHble. — M. : Acmekt Ipecc, 2016. — 304 ¢. — 978-5-
7567-0818-9. — Pexum noctyma: http://www.iprbookshop.ru/56755.html

3. JIptuko, JI. SI. Aurnwmiickuii 361k i acupadToB. English for Post — Graduate
Students [DnexTpoHHBI pecypc] : yaeOHO-METOANIECKOE MOCOOHE 110 aHTIIMIUCKOMY SI3BIKY JIJIS
acniupanToB / JI. 5. JIeruko, H. A. HoBorpazackas -Mopckasi. — DIeKTpOH. TEKCTOBbIE JaHHBIE.
— JloHenk : JloHenkuii rocy1apCcTBEHHBIN YHUBEpCUTET yrpaBieHus, 2016. — 158 ¢. — 2227-
8397. — Pexxum goctyma: http://www.iprbookshop.ru/62358.html

8.2. JlonotHUTEIbHASI JIUTEPATYpa

1. Aurnuiickuii s3BIK 1711 aCIIUPAHTOB [DNEKTPOHHBIN pecypce] : yaeOHoe mocobue / T.
C. boukapesa, E. B. [Imurpuena, H. B. MnozemueBa [u ap.]. — DIEKTPOH. TEKCTOBbIE JaHHBIE.
— Opendypr : Openbyprckuii rocynapctBensbiit yauusepcuretr, 9bC ACB, 2017. — 109 c. —
978-5-7410-1695-4. — Pexwum nocryna: http://www.iprbookshop.ru/71263.html
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2. Abpamos, B. E. DnemenTapHas TpaMMaThKa COBPEMEHHOTO aHTJIMHCKOTO SI3bIKA JTSI
HAUMHAIOMKX ¥ MPOIOJDKAIONINX €ro U3ydeHue [DNeKTpoHHBIN pecypce] : yuebHoe nmocodue Juis
BY3os / B. E. AGpamoB. — DnekTpoH. TekcToBbIle TaHHbIe. — Camapa : [ToBomkckuit rocynap-
CTBEHHBIM YHHBEPCHTET TeJICKOMMYHHUKaIUK U nHpopmatuku, 2013. — 74 ¢. — 5-256-01435-8.
— Pexxum pocryna: http://www.iprbookshop.ru/71909.html

8.3.UnTepHeT-pecypchbl

AHTTIUACKHH S3BIK
1. VOA Special English - http://wwwl.voanews.com
2. BBC Learning English - http://www.bbc.co.ul \vorldservice/leamingenglish.corn
3. British Council Professionals- http://www.britishcouncil.org/learnenglish-podcasts-
professionals.htm
4. British Council Science - http://www.britishcouncil.org/learnenglish-central- sci-
ence-homepage
5. The Naked Scientists - http://www.thenakedscientists.com
. Science Live - http://www.sciencelive.org
. Chemistry World - http://www.rsc.org/chemistryworld/podcast
. The Royal Society Podcasts - http://royalsociety.org
. Imperial College London - http://www3.imperial.ac.uk/media/onlinelectures
. The University of Bath - http://www.bath.ac.uk/podcast
10.The University of Edinborough - http://websiterepository.ed.ac.uk/explore/av

© 00 00 N O

9.MaTepnaﬂbHO-TexrmqecRoe o0ecneyeHue AUCHUIIIMHBI

[IpakTuyeckue 3aHATHS MO AMCLUUILIMHE MPOBOASTCS B YUYEOHBIX ayJUTOPHUSAX KOpIlyca
ITHTY xadenps! «MexdakynbTreTcKas sS3bIKOBas».

AcCTMpaHThl TIOJIHOCTHIO 00ECTeUeHbl YUeOHBIMU U METOIMUECKUMHU MaTepuaiamMmu, pa3pa-
0O0TaHHBIMM Ha Kadepe I OpraHu3aly uX 00y4eHHs 1 KOHTPOJISI €T0 Pe3yJbTaToB.

[IporpamMMma cocTtaBieHa B cOOTBETCTBUU ¢ yTBepkJIeHHBIMU PT'OC u yueOHbIMU I1aHa-

MH OCHOBHOH IpodecCHOHaIbHON 00pa30BaTeIbHON MPOrpaMMbl BBICIIET0 00pa30BaHUs — MO/-
TOTOBKM KaJpOB BBICHICH KBaIM(PUKALMKM MO MpOrpaMMaM MOJTOTOBKM HAy4yHO - NeAaroruye-
CKHX KaJpOB B aCUPaHType

* ayautopHblit ponp kadenpsr MOAK

* 2 pabo4MX MECT C BHIXOJOM B UHTEPHET
* Oubnuoreunsi poua kapenpst MOAK

14


http://wwwl.voanews.com/
http://www.bbc.co.ul/vorldservice/leamingenglish.corn
http://www.britishcouncil.org/learnenglish-podcasts-
http://www.britishcouncil.org/learnenglish-central-
http://www.thenakedscientists.com/
http://www.sciencelive.org/
http://www.rsc.org/chemistryworld/podcast
http://royalsociety.org/
http://www3.imperial.ac.uk/media/onlinelectures
http://www.bath.ac.uk/podcast
http://websiterepository.ed.ac.uk/explore/av

CocTaBuUTeIDb:

K.IL.H., JOLIEHT Mex(}aKyIbTeTCKOU sI3bIKOBOH Kadeapsl Qj} 7/ Axaesa X.A./

PaccmoTpeno: Ha 3aceqanuu kadeapsr MOAK
npotokous Ne 5 ot 17.01.2020
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Uit
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